BF

ERAE

AEASEIBEAEFIOvIRE
E—FAL—R— LB Ma¢

B7E
=15

TR29E7H238 (H)
KEE—FRR—YANE

A% BF ELTUER—IL KFIAFRKR—L

EvyEm =)

BHE it B HaE e R A
1 KBE X 4 BHME |A1|woo] |1 B B
2 =ZEER xt 3 EHHEE |A2|wso] |2|=Z E B
7,03 3 FRRER Xt 4 THIR A3 | 11:40 IR M B
B KBEE x 2 Z=ZB |[A4|n20| 4|2 @ B
2 =ZEER % 4 ZEHE | A5 | 1320
1 KRR X 3 EHEE | A6 | 1410
CHE S
It 52 R =58 RS BHR e
Iz & 1R (- (= ) (= ) ]
ZER| (- ) (= ) (= ) ]
BER] (- ) (- (= ) ]
BaA| (- ] (= = ] 1
XF
ABH %t B SaIR o] 1= R
1 IKEE x4 FBEE |B1|twwoo| [1|KE B B
2 EBHE X 3 Z=FER B2|1oo]| [2|Z 41 &
7/23] 3 =8 Xt 4 EEdnile B3 | 12:00 3= ) (=)
Bl ®kBERE 3 2 ZHE B4|1x00]| [4|3 B &
2 BHME X 4 EHBEE |B5| 140
1 IHBRE x 3 2 Z=EE | B6| 1500
R _
I 2 1 B8 =z8 BEE [PERLERE g
gz & R L - L - ) S B
BAR] (- ) L - ) S B
=s/| ( - ] (i [ - ] |y
BERl (- ] (= (= ] 1




